R B H/DONGMING MOTOR

DC WORM GEAR MOTOR
DM-75SW555

it 7 ¥ Fi/Typical applications :

Haj R8T, 2AiTHL. Az AR, fd8h. RoIT. BAML.
TN KA. B PATHLE

Auto shutter,binding machine,automatic TV rack,money counter,
spotlight,tissue machine,office equipments,household appliances,
automatic actuator
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unit: mm

W#H 2 $Gearbox Data:

%K 3 4
Number of stages

WAL 230. 250. 267. 294, 324, 360. 400.
Reduction Ratio i BSOSO 0205221 448. 506. 718. 800. 896, 1012
V5 A K
Gearbox Length L (mm) 75 75
il 3K 41 75
Breaking Torque(kgf.cm) 70 100
1A 4 AR 50% 40%

Gearbox Efficiency n

112 $U/Driving Motor Data:

Rated No Load Max Efficiency Load Stall

56 Votor Mode! ik | i | ma | omae | ooob | OBE D e e | m
Volt. Current | Speed | Current | Speed | Torque P.out Torque | Current

Vv mA r/min mA r/min gf.cm w gf.cm mA
DM-555-012-3600 12 <205 3600 <840 3000 200 6.1 =2400 | =5695
DM-555-012-4500 12 <200 4500 <1200 | 4000 200 8.21 =1800 | =7650
DM-555-012-6000 12 <450 6000 <2400 5500 200 11.28 | =2400 | =12750
DM-555-024-6000 24 <230 6000 <1080 5450 200 11.28 | =2181 | =5100

Y%L L2 $Geared Motor Data :

. No load Max Efficiency Load Stall
e BR[| HE A
Rated LR LB CERTi ( (1) Ih % 5 CERi
Gear Motor Model voltage n) )
Current | Speed | Current | Speed | Torque P.out Torque | Current
Vv A r/min A r/min kgf.cm W kgf.cm A

DM-75SW555-0062250-359K 6 0.12 5.8 0.63 4.8 18.97 0.92 82.4 2.87
DM-75SW555-0123000-359K 12 0.16 8.3 0.72 6.6 16.32 1.10 62.5 2.86
DM-75SW555-0124500-359K 12 0.15 12.2 0.95 10.4 30.09 3.22 168.74 5.79
DM-75SW555-0246000-359K 24 0.14 17.6 0.99 15.0 24.68 3.79 131.94 5.84
RN Z B 2 25, 43 DL S B i AR O AT DA 4 25 7 2R e il 2 4.
The motor parameters are for reference only,please refer to real measured data;
We can customize parameters according to customer requirements.
U0 K0 H AL i L = U H AL i Y /AT R R 9 K L i B AL A L R =L U R AT A S L R A s A ek B b tA R A A% B R .
Gear Motor Output Speed=DC Motor Speed/Gear Ratio (n=nmvi)
Gear Motor Output Torque=DC Motor Torque*Gear Ratio*Gearbox Efficiency. (t=tm*i*n)
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